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1 PC
1) PC
PC PC
2 PC
Handle 1 Bin
2) PC
PC PC PC
PC PC
3 PC
Handle 1 Bin
YYYYMMDDHHMMSS
PC TIME PC 7 8CD
BL VER 2 Hex 0 0
- 1-65535
ADD BL VER 1 Hex |0 1-255|0
DEL BL_VER 1 Hex |0 1-255|0
WH_VER 1 Hex |0 1-255|0
PRC_VER 1 Hex |0 1-255|0
Sta_VER 1 Hex |0 1-25510
SELF D VER 1 Bin b0=0/1 |0
1
SOFT_FLAG 1 Bin b0=0/1 |0
1
3)

PC PC
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IC PC
4
Handle 1 Bin
COUNT n 1 Hex
MSG1
MSGn n = COUNT
1 2
St 1 Hex 1
NZN 1 Hex
LEN 1 Hex
ASN 10 BCD
CardSt 2 BCD 9
BAL 4 Hex
1C-DATA X
St 1 Hex 2
NZN 1 Hex
P UNIT 1 Bin 8 UNIT
AMN 3 Hex 8 UNIT
VOL 3 Hex 0.01
PRC 2 Hex
IC
> IC IC
IC
> IC
IC COUNT=0
( 1)
1
PC
2 PC PC
3 PC
o
° PC
o
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RESULT 1 Bin bo= 0 1 T-MAC
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IC PC
PC
9 PC
Handle 1 Bin
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Content 1 Hex 4
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S-OFFSET Hex 0-65535
SEG segs Hex 1 255
DATA- Content 16*segs Bin
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> PC
>
PC /
D
1 PC PC
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4
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Handle 1 Bin
ASN 10 BCD
BAL 4 Hex
CTC CTC 2 Hex
DS 1 Hex 8 DS
TIME 7 BCD 8 TIME
2) PC
PC
11 PC
Handle 1 Bin
M-FLAG 1 Bin BO= 0 /
ASN 10 BCD
BAL 4 Hex
AMN 3 Hex
CTC CTC 2 Hex
DS 1 Hex 8 DS
TIME 7 BCD 8 TIME
GMAC 4 Bin
PSAM-TID | PSAM 6 Bin 8 PSAM-TID
PSAM-TTC PSAM TTC 4 Bin 8 PSAM-TTC
1) 5
1 PC
2 PC PC
3 PC
e
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Handle 1 Bin
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2) PC /
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13 PC /
Handle 1 Bin
M-FLAG 1 Bin b0=0:
ASN 10 BCD
1) 6
1 PC
2 PC / PC /
2) PC
1 PC PC 2
2 6
6 PC
1) PC
PC
14
Handle Bin
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2)
15
Handle 1 Bin
GUN-N n 1 Hex
NZN 1 1 Hex
V-TOT 1 4 Hex 0.01
NZN n Hex n = 1~GUN-N
V-TOT n 4 Hex 0.01
1) PC ( 7)
1 PC PC
2
PC >
7
2) 8
1 PC
2 PC
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IC PC
7 PC
1) PC
PC
16 PC
Handle Bin
2)
17
Handle 1 Bin
M-INFO 12 ASCIHI
Prov 1 BCD
City 1 BCD
Superior 4 BCD
S-1D ID 4 BCD
TIME 7 BCD YYYYMMDDHHMMSS
GUN-N 1 Hex
NZN 1 1 1 Hex
NZN n n 1 Hex n = GUN-N
BL_VER 2 Hex 0 1-65535 | 0
ADD_BL_VER 1 Hex 0 1-255 0
DEL_BL_VER 1 Hex 0 1-255 0
WH_VER 1 Hex 0 1-255 0
PRC_VER 1 Hex 0 1-255 0
Sta_VER 1 Hex 0 1-255 0
M-DATA
1) PC
1 PC PC
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IC PC
2
PC >
9
2) 10
1 PC
2 PC
—>
10
8 PC
1) PC
PC
18 PC
Handle 1 Bin
INFO-TYPE 1 Bin bo= 0 ASCII / 1
DATA
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IC PC
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19
Handle 1 Bin
COMMAND 1 Bin
FLAG 1 Bin b0= 0: /1:
1) 11
1 PC
2 PC
PC
11
2) PC 12
1 PC
2
v
PC
v
12
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PC
PC
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Handle Bin
POS-TTC Hex
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b 8
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Handle Bin
POS-TTC POS-TTC Hex PC POS-TTC

PC

1 PC PC

2 a, PC

PC
PC
10
22
Handle 1 Bin

S-DATA

33




PC
200

PC

33



PC

PC

30H

PC

30H

31H

32H

PC

32H

PC

33H

PC

33H

34H

PC

34H

PC

35H

PC

35H

PC

36H

PC

36H

PC

38H

38H

PC

PC

3AH

3AH

PC

3BH

3CH

PC

PC

3EH

32H

3FH

21

PC

32H

10

50H

33




3 CRC
CRC 0
n p r
[dape . ..... aal r R [Fra re....n )
M L0 -----. oo re Feoe... i 1]
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rl G [9 91 ---- 9: Gd]
Ll Rix)
a2 e 1
xD(x) D r D
RO
Rix) = Re[ 2 21
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Palynarmial = 3184306 + X2 4+ 1

BIT0 a1 4.‘—; ATz a3 BITS BITS AITE BTy
¥ @ » x » xE = b d
BT arrs BIT10 BT BIT12 A3 5rr1¢4-‘—‘ BIT1S XOR
o x'“] x|1 x1] x‘!a xl. @ x"l x1ﬂ
INPUIT
CRE DATA
ouTPLT
CRC 0x00,0x00 O0xA001
01,02,03,04,05,06,07,08 CRC:0xc4f0
08,07,06,05,04,03,02,01 CRC:0x908a
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IC PC
Vaue
0000-FFFF
0000-00FF
2
0000-00FF
0000-00FF
4
YYYYMMDD
4
YYYYMMDD
FFFF
2 XXFF XX
XXYY XX YY
4 N Hex
N*10 10

10
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IC PC
PC 2
PC 2 A
B
(B)

S

1 ( / ) 13 1” 13 2”

2

3 4
1000 1000 60000278
1010 1010 90# 60000293
1011 1011 90# 60000296
1012 1012 90# 60000297
1030 1030 93# 60000302
1031 1031 93# 60000304
1032 1032 93# 60000305
1040 1040 95# 60000306
1041 1041 95# 60000308
1042 1042 95# 60000309
1050 1050 97# 60000310
1051 1051 97# 60000312
1052 1052 97# 60000313
1060 1060 120# 60000318
1080 1080 60000324
1090 1090 98# 60000314
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1091
1092
1100
1200
1201
1202
1203
1204
1300
2000
2001
2002
2003
2004
2005
2006
2007
2008
2009
2010
2011
2015
2100
2016
2200
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2014
2300
2301
2900
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60000316
60000317
60000286
60000279
60000280
60000281
60000283
60000285
60000325
60000349
60000359
60000358
60000357
60000356
60000355
60000360
60000361
60000362
60000363
60000364
60000365
60000366
60000350
60000373
60000374
60000375
60000376
60000380
60000351
60000352
60000381



6
Ver 1 Hex 0,1 255 |0:
Prov 1 BCD
City 1 BCD
Superior 4 BCD
S-1D ID 4 BCD
POS-P 1 Hex 0-249 1 POS-P
GUN_N 1 Hex
NZN 1 1 1 Hex
NZN n n 1 Hex n = GUN_N
4
1IVER 1 Hex 0,1-255 |o:
2|V-D&T 6 BCD CCYY MM DD hh mm
3|FieldNum 1 Hex
GDP1
GDPf f = FieldNum
NextGDP 1
NextGDP f f = FieldNum
1INZN 1 Hex
2|0-TYPE 2 BCD 5
3|Den 4 Hex
4|PRC n 1 Hex 1-8
5[PRC1 2 Hex 0 9999 0 99.99
PRCn 2 Hex 0 9999 [n=PRC_n
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IC PC
8
/

Handle 1 |Bin
POS-P 1 |Hex PC
POS-TTC |POS-TTC 0 | 4 |Hex POS Vv |V VoV
T-TYPE 4 | 1 [Bin 1 0| 1|2 56 | 7
TIME 5|7 BCD YYYYMMDDHHMMSS Vv |V VoV
ASN 12 | 10 BCD 0 Vv |V v
BAL 22| 4 |Hex UNIT V|V o|Y v
AN 26 | 3 |Hex UNIT Vv |V
cTC cTC 29 | 2 |Hex Vv |V
TAC 31| 4 [Bin TAC GTAC | v [|oTAc| v
GMAC 35| 4 [Bin / VoV
PSAM-TAC 39 | 4 [Bin / VoV
PSAM-ASN | PSAM 43|10 BCD PSAN 8 PSAN-TAC Vv |V
PSAM-TID |PSAM 53 | 6 [Bin TAC GTAC Vv |V
PSAM-TTC [PSAM-TTC | 59 | 4 |Hex PSAM VIV |V
DS 63 | 1 |Hex > < VoV

BitLO( )

=0: ()=l (001 )
UNIT 64 | 1 |Bin Bit7-4( ) vV |v

=0: ;=L =2

=3 =4 ;=5 1
C-TYPE 65 | 1 |Bin b0=0 = 1= PBOC ViV oY
VER 66 | 1 |Bin b7-4: b3-0 VvV
NZN 67 | 1 |Bin ViV |V AR
G-CODE 68 | 2 BCD 5 ViV A
VoL 70 | 3 |Hex Vv |V v
PRC 73| 2 |Hex Vv |V v
EMP 75 | 1 |Hex 0-255 255 Vv |V VoV
V-TOT 76 | 4 |Hex Vv |V VoV
RFU 80 | 11 |Bin
T-HAC 91| 4 [Bin PRI e pos.TTC Vv v o

95
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1 T-TYPE
> b7=1
> b6=0/1 () ()
> bd=1 TAC
> b3-b0 0=
1=
2=
3=
4=
5= Ic
6= Ic
7=
8=
9= TAC
9 /
TAC
0000
0001
0002
1001 /
1002 /
1003 /
1004 /
1005 /
1006
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